IB Physics

ST 26.1

1. What is the velocity of a 128 keV electron.  (hint – rest mass is 511 keV, dilated mass is 511 + 128 = 639 keV)

.600c

2. A stopwatch is put into a centrifuge and sped up to .850c.  What time will it take (in our reference frame) for the moving stopwatch to register 60.0 seconds?

114 s
3. What is the kinetic energy of a .142 kg baseball going .78c?

7.6x1015 J

4. Joe is on a flatbed car going .85 c straight toward you.  He throws a baseball forward relative to the flatbed car at .62 c.  How fast is the baseball moving with respect to you?

.96 c

5. A mystery particle travelling at .7825 c decays on the average in a distance of 42.5 m.  If you speed up the particle, it will travel 52.3 m.  How fast is it going then?

.840 c
